3. Dian uses the large data set to investigate the Daily Total Rainfall, ymm, for Camborne.

(a) Write down how a value of 0 < r < 0.05 is recorded in the large data set.

(1)
Dian uses the data for the 31 days of August 2015 for Camborne and calculates the
following statistics
n=3I Y r=1749 Y r*=3523.283
(b) Use these statistics to calculate
(1) the mean of the Daily Total Rainfall in Camborne for August 2015,
(11) the standard deviation of the Daily Total Rainfall in Camborne for August 2015.
3)

Dian believes that the mean Daily Total Rainfall in August is less in the South of the
UK than in the North of the UK.

The mean Daily Total Rainfall in Leuchars for August 2015 is 1.72mm to 2 decimal
places.

(c) State, giving a reason, whether this provides evidence to support Dian's belief.

oS & L & 2

Dian uses the large data set to estimate the proportion of days with no rain in Camborne
for 1987 to be 0.27 to 2 decimal places.

(d) Explain why the distribution B(14, 0.27) might not be a reasonable model for the
number of days without rain for a 14-day summer event.

(1)
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